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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. English version is Authentic

Q.1 (a) What is flow chart ?Draw flow chart symbol and also draw flow chart to 07
find minimum of given two number N1 & N2.
(b) (i) Write necessary declaration for each of following statement. 04
(1) max as a positive integer and initialized to 10
(2) ptr as a integer pointer  (3) name as a string of 20 character
(4) pmarks as a real number

(i) Write ‘C’ assignment statement for following algebraic equation. 03
(1) x1x2 + ml 2) y= 5m’ +4m+3
W =
x1-x2 m2
Q.2 (a) List operator available in ‘C’ & explain conditional operator with 07
example.
(b)  Write syntax of switch statement and explain it with example 07
OR
(b)  Write syntax of nested if statement & explain it with example 07
Q.3 (a) Explain while & do-while loop with syntax and example. 07
(b) (i) What is header file ? List any two header file. 04
(i1) What is array ? Write declaration for one & two dimension array. 03
OR
Q.3 (a) Evaluate following arithmetic expression 07
(1) 13/4 %3+5%2 (2) (7/3) *3-11%3 (3) 4-5%2+9/5+3
(b) (1) List escape sequence and state meaning of each. 04
(i1) List all data types of ‘C’ with their size in byte. 03
Q4
(a) What is keyword? List keywords from following. 07
(1) while )2) integer (3) more (4) for (5) break (6) do (7) switch
(8) float (9) character (10) variable
(b) (i) Write a ‘C’ program to display following output using for loop. 04
1
12
123
1234
12345 03
(i) What is pointer ? Write advantage of pointer.
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Explain following function with example
(1) toupper() (2) strlen() (3) strcat()
(1) Write a program to find maximum of two number using if-else
Statement.
(i) What is recursion ? What is output if you call main() inside main()
function.

(1) Write function for opening “datal” file in read mode & “data2” file
in write mode.
(i) What is command line argument? List any two command line

argument.
(1) Define a structure named student that have following information
Integer : enrollment
Character : name having size[15]
Character : branch having size[10]
Real :  pmarks
(i1) State difference between structure & union

OR

(1) Explain call by reference & call by value with example.
(i1) List storage class and explain any one.
(1) Write output of following language segment.

int p[]={1,3,5,7,9};

int *ptr;

ptr=p;

ptr = ptr+2 ;

printf(“%d”,ptr);
(i) Why “C’ is called structured language ?
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(1) while (2) integer (3) more (4) for (5) break (6) do (7) switch
(8) float (9) character (10) variable
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Integer : enrollment
Character : name having size[15]
Character : branch having size[10]
Real :  pmarks
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int p[] ={1,3,5,7.9};
int *ptr;
pir=p;
ptr =ptr+2 ;
printf(“%d”,ptr);
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